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Avviso di Selezione pubblica per 'assunzione a tempo pieno e indeterminato di 1 posizione per la Divisione Azioni
Strategiche & Speciali in Lepida ScpA
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PROVA VO2 TEST INGLESE

E' RICHIESTA UNA SOLA RISPOSTA PER OGNI DOMANDA. LE 3 OPZIONI PROPOSTE SONO TUTTE PRECEDUTE DA UN CODICE
ALFANUMERICO DI 4 LETTERE E DA UN TRATTINO (-). TEMPO A DISPOSIZIONE: 20 minuti
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4. The implementation of stricter emission standards has significantly
areas.

the levels of air pollution in urban  *

Contrassegna solo un ovale.

XTXU - decreased
ETQJ - decreases

EWDH - increased

5. Despite the city's efforts to promote public transportation, the
contribute significantly to poor air quality.

of private vehicles continues to *

Contrassegna solo un ovale.

JIDF - prevalence
ILCL - prevalent

ZLCS - prevail
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6. Which of the following sentences has the same meaning as "He will not attend the meeting tomorrow.”? *

Contrassegna solo un ovale.

AXTB - He is not attending the meeting tomorrow.
WUQZ - He will not attending the meeting tomorrow.

UNOCH - He did not attend the meeting tomorrow.

7. Choose the right one: *

Contrassegna solo un ovale.

PEYE - Look at that building over there
UNAF - Look at that building over here

NOML - Look at that building under there

_here _

8. "Howlong ___ here?". "l _ _3years"*

Contrassegna solo un ovale.

XDRX - have you lived - ‘ve lived - for
KCPF - did you live - 've lived - for

VVUA - has you lived - 's lived - since
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9. Which of the following sentences has the same meaning as "Reducing air pollution is crucial for improving *
public health.”?

Contrassegna solo un ovale.

KMDZ - Lowering air pollution is vital for enhancing community health.
OQLZ - Reducing air pollution has some effect on public health.

LUHJ - Increasing air pollution is necessary for economic growth.

10. The challenge of climbing Mount Everest by many, but few have succeeded. *

Contrassegna solo un ovale.

SFQJ - has been attempted
IDKB - have been attempted

NTXO - is attempting

11. I couldn't believe it when | my old friend at the airport after so many years. *

Contrassegna solo un ovale.

OHWW - ran into
UPYF - ran over

HJDP - ran out of
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12.  While renewable energy sources are being increasingly adopted, the
resulting

Contrassegna solo un ovale.

DRFQ - continued [ increase
EAWT - continuation / increasing

LCYD - continued | decrease

13. Iwent to buy some Christmas presents but was too expensive. *

Contrassegna solo un ovale.

QAQF - everything
UUHD - all

YUPE - anything

14. By the time she already started. *

Contrassegna solo un ovale.

MZNU - had finished / had
FYZQ - had finished [ would have

HJMW - finished / will have
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15.  Next August they to Italy because they want to improve ____ Italian. *

Contrassegna solo un ovale.

QKNC - are going / their
YBQW - go / their

UVIX - have been going / his

16.  What is the correct past tense form of the verb "to fall? *

Contrassegna solo un ovale.

FCDU - fell
STKT - fallen

QHBT - falling

17.  Choose the right one: *

Contrassegna solo un ovale.

MBPB - The air quality in urban areas has significantly improved over the years.
NSOS - The air quality in urban areas have significantly improved over the years.

RKQR - The air qualities in urban areas has significantly improved over the years.

https://docs.google.com/forms/d/143AMppf80q0CCCeWpPsBfEH1HyXefFEMOEATIQCoyrA/edit 6/9



01/10/24, 12:06 Prova V02 per selezione in Lepida ScpA 25 2024D8

18. A key aspect of improving cybersecurity measures is protecting sensitive information from attacks. *

Contrassegna solo un ovale.

GILO - external
GJZE - internal

QQRQ - visualized

19.  Which of the following sentences has the same meaning as "The new policy has led to increased *
productivity in the workplace.”?

Contrassegna solo un ovale.

IPAI - The new policy has resulted in higher productivity at work.
MYTG - Since the implementation of the new policy, productivity has remained the same.

KJRQ - The new policy has decreased productivity in the workplace.

20. Choose the right one: *

Contrassegna solo un ovale.

HREL - Monitoring air quality is essential for public health.
WEAR - Monitoring air quality are essential for public health.

DYSR - To monitor air quality are essential for public health.
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21. Successful project management often relies on clear
and deadlines.

to ensure everyone understands their tasks

Contrassegna solo un ovale.

TMWW - communication
SCFQ - transportation

BYVS - decoration

22.  Which of the following sentences has the same meaning as "Although the project deadlines were tight, the
team managed to complete all tasks on time."?

Contrassegna solo un ovale.

NVDB - Even though the project deadlines were tight, the team managed to complete all tasks on time.
MSOA - Despite the project deadlines were tight, the team managed to complete all tasks on time.

RZEV - Despite of the project deadlines being tight, the team managed to complete all tasks on time.
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23. Choose the right one: *

Contrassegna solo un ovale.

THVQ - The team'’s success depends on their cooperation.
HABF - The team'’s success depend on their cooperation.

WGNB - The team's success depending on their cooperation.
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